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If (1+ax)" =1+ 8+ 24x” + ..., then the value of a

-'—""-__—_—
and n, 18

2.4 M) 2, 3 (©) 3. 6 @ 1,2
ﬂ N N4 /
(10a) = 1+ x L7 P

27)/:/»/- 8’z+o?‘/zl+”_
/

3
(Ha%)” = [ #n(m) t M’O G (32)"

Cot) nonf & O{U)ﬁ
(%a:ﬁ) ’ni“_ﬂ;y } ' f U

,fxﬁct/




[[[[[

NDA 2 2024 - REVISION - MATHS - CLASS 7

If 1+ ax)" =1+ 8x+ 24x” + ..., then the value of a ANSWER: (a)

and n, 1s
(a) 2, 4 (b) 2, 3 (c) 3, 6 (d) 1, 2
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The coefficient of x@ in the expansion
11 —
(ax—i‘] will be

bx*
462 a® 62a’~
(a) =
(c) 46; @’ (d) None of these

of
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The coefficient of x~

1 11
(ax - F] will be
X
462 a®
bE

462 a’
(c) 7

(a)

in the expansion of

462 a’

bﬁ

(d) None of these

ANSWER : (b)
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The coefficient of the middle term in the expansion of
(2 + 3x)" is

(a) 6 (b) 5! () 8! ) 216
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The coefficient of the middle term in the expansion of ANSWER : (d)
(2 + 3x)*is
(a) 6 (b) 5! (c) 8! (d) 216
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If pand g be positive , then the coefficients of x” and
x? in the expansion of (1 + x)” ¢ will be

(a) equal

(b) equal 1n magnitude but opposite in sign

(c) reciprocal to each other
(d) None of the above

H

(142) 28 = /4 (p9)7 e 2t
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If pand g be positive , then the coefficients of x¥ and ANSWER: (a)
x? in the expansion of (1 + x)” ¢ will be
(a) equal

(b) equal in magnitude but opposite 1n sign
(c) reciprocal to each other
(d) None of the above
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The term independent of x in the expansion of

9 10
24+ 2| will be
3  2x°

(a) 3/2 (b) 5/4
(c) 5/2 (d) None of these
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The term independent of x in the expansion of ANSWER: (b)
10
L0 | willbe
3  2x°
(a) 3/2 (b) 5/4

(c) 5/2 (d) None of these
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What is the coefficient of x* in the expansion of

2
1-x1, (NDA 2010 11)
1+ x

(a) — 16 (b) 16
(c) 8 (d) -8

[[[[[
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What is the coefficient of x* in the expansion of

2
1-x1, (NDA 2010 11)
1+ x

(a) — 16 (b) 16
(c) 8 (d) -8

ANSWER : (b)
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For all n e N, 2*" —15n — 11is divisible by )

(NDA 2011 1)

(a) 125 (b) 225
(¢) 450 (d) None of these
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For all n e N, 2*" —15n — 11is divisible by ) ANSWER : (b)

(NDA 2011 1)

(a) 125 (b) 225
(¢) 450 (d) None of these
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What i1s the number of terms in the expansion of
(@a+b+c)',neN? (NDA 2010 1)
(a) n+1 (b) n+ 2

© n(n+1) 2 (n+1)2gn+2)
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What i1s the number of terms in the expansion of
(@a+b+c)',neN? (NDA 2010 1)
(a) n+1 (b) n+ 2

© n(n+1) 2 (n,+1)2(n,+2)

ANSWER : (d)
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If the coefficients of 5th , 6th and 7th terms in the
expansion of (1 + x)"” bein AP, then the value of nis

(a)7 only (b) 14 only
(¢) 7or 14 (d) None of these
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If the coefficients of 5th , 6th and 7th terms in the ANSWER : (c)

expansion of (1 + x)"” bein AP, then the value of nis

(a)7 only (b) 14 only
(¢) 7or 14 (d) None of these
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The correct matching of List I from List II 1s

List I List 11
A (1-20" i
x+1
B. (1+x)" 2.1-nx+ n(r;_l}'f
if | x[<1
C.If x > 1,then 3.1+nx+n(n+l)-x2
l+l+i2+...is _ 2!
X x 1f|x|<:1
D. If| x| >1, then 4 %
1 2 3 4 T =1
_F+F_F+..nls
5 _ %
(x2+1)2
6 a
(x-1)?
Codes
A B C D A B C D
(a) 1 3 4 5% (b) 2 3 4 1
c) 3 2 4 5 (d) 2 3 1 5
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The correct matching of List I from List II 1s

ANSWER:
List I List 11 S (C)
A (1-2" -
Cx+1
B. (1+x)" 2.1-nx+ MY 2
) 5
if | x[<1
C.If x > 1,then 314 n(n+1) 2
1+l+i+-.-is ) 2!
x  xZ 1f|x|<l
D. If| x| >1, then 4 %
1 2 3 4 T =1
_F-FF_F-'-...]S
5. %
(x2+1)2
6 a
(x-1)?
Codes
A B C D A B C D
a1 3 4 5 (b) 2 3 4 1
)3 2 4 5 (d) 2 3 1 5
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Q)If b, b,, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what isthe

——

value of d for which b% =byby +b;d+2? b = d—c/ "
1 W [)o? el / ¥
@ 3 () 0
(© 1 @ 2 b, = a+d
(154 = ()(44) +(0-d)q 1 4 Pl d=1,-f
pyfo?}ﬁdz %Jf%a//dl” (4 d?o)
f@/ 0{2/
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Q)If b, b,, by are three consecutive terms of an arithmetic
progression with common difference d > 0, then what isthe

value of d for which b% =b,yby +bjd+2?

1

(a) 5 b) 0

© 1 d 2

Ans: (c)
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/

Q)If1, x, y, z, 16 are in geometric progression, then what 1s the
valueof x +y+2z?

@) 3 B (b) 12

(c) 14 d) 16

=] r t-ar =4

oY = J:MllY

'Yv:__/é__zjég% _,_ 5\7:0‘)”3:
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Q)If1, x, y, z, 16 are in geometric progression, then what 1s the

valueof x +y+z?
(@) 3 (b) 12
(c) 14 (d) 16

Ans: (c)
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EEEEE

Q)What is the value of 913, 91/§9 9127 = 9

@ 9 Ab) 3
(c) 9173 @) 1
é y
/ L L ’"}3 - 1 :@
f.07,997 . ® 7 ?
L+ .. 0
ifl*e?

/
39747 a ,
a=4, 1=+ /5‘”:_—'(/7/<)
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Q)What is the value of 91/3. 91/19_91/27

@) 9 (b) 3
(c) 91/3 (d) 1

Ans: (b)
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Q) Which one of the following is correct?

1 1 1 1 _
If + =—+—, thena, b, carein
b—-c b—-a a c
(@) AP (b) HP
(¢c) GP _ _(d) None of these
. + L = ;{LT'[ AP — °?é
b-c b-a -




NDA 2 2024 - REVISION - MATHS - CLASS 7

Q) Which one of the following is correct?
1 1 1 1

If + =—+—, thena, b, carein
b—-c b—-a a c
(@) AP (b) HP
(¢c) GP _ (d) None of these

Ans: (d)
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Q) What 1s sum to the 100 terms of the series

9+99+999+ .2 | /oo_[)
v 10(10100_1) 100(])) &(1099_1)_100 0(/9 /- /00
7 99 [0 -]
100 (100191 d) —(10" -1
© 10000000 @ g0 ((/o)lvn__/) i
7
M4)+@%0r@wﬁ+wfh,
hor Y?b
(1) +(10*1) ) (108=1) + -~ (1o Torms) g
[ ) = @(‘f”fi)
(Ioﬂolf,,. /b ) —-(/+/+_”(/m /7%0.5) ]
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Q) What 1s sum to the 100 terms of the series
9+99+999+ .2
10 100 10 99
(a) 3(10 —1)-100 (b) 3(10 ~1)-100

(c) 100(1001°-1)  (d) %(10‘00_1)

Ans: (a)
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Q)If4,B and Carein APand b: c= /3 ../2 ,then what isthe

value of sin C?
1 16 = A+t /MBM;/@O"
(@ 1 ®) 7 T -
| 8- 180’ (1)
© 3 S B - f'- 48
\Y
_é__ - _6@__ /2 . 9no° 38 - 18
B Ine / \[3’ S’fna B :600_

£ - sib RN A T
¢ St | sint Va
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Q)If4,B and Carein APand b: c= /3 ../2 ,then what isthe
value of sin C?

1
@ 1 ®) 5

51

© /3 (d)

Ans: (d)
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Q)Ifthe AM and GM between two number are in the ratio m : n,

then what 1s the ratio between the two numbers?

\/ 2 2
m+Afm —n 1+ 1
(a) (b)
m—\/mz —n? R
mz—ﬁg m2+4£-—mn
© "~ 2 2 (d)

2 2
m- +n m- +n- +mn

EXAMS
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Q)Ifthe AM and GM between two number are in the ratio m : n,

then what 1s the ratio between the two numbers?

\/ 2 2
m+Afm —n 1+ 1
(a) (b)
m—\/mz —n? R
mz — n2 mz + n2 —mn
C d
(©) m'2 +n2 (@) mz - nz + mn

Ans: (a)

EXAMS
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Q) The arithmeticmean of two numbers exceeds their geometric
mean by 2 and the geometric mean exceeds their harmonic
mean by 1.6. What are the two numbers?

(@) 16,4 (b) 81,9
(c) 256,16 (d) 625,25
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Q) The arithmeticmean of two numbers exceeds their geometric

mean by 2 and the geometric mean exceeds their harmonic
mean by 1.6. What are the two numbers?

@) 16,4 ®) 81,9
© 256,16 (d) 625,25

Ans: (a)
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1 1
' ﬁ +—+ +.....7
Q)What 1s the sum of \/5 ; \/i

J3 3V3
(@) 5 (b) 5,

23
© 3
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1 1
Q)Whatisthesumof\/g+\/§+3\/§+ ..... 2
J3 3.3
23
©) Tf @

Ans: (b)
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1 1 1 1
Q)If + =—+— thena, b, c are 1n
b—a b—-c a c

(a) AP (b) GP
(c) HP (d) None of these
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1 1 1 1

Q)If + =—+— thena, b, c are 1n
b—a b-c a c
(a) AP (b) GP
(c) HP (d) None of these

Ans: (c)
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Q) Which one of the following options is correct?
() sin?30°, sin?45°, sin? 60° are in GP
(b) cos? 30°, cos? 45°, cos? 60° are in GP
(¢) cot?30°, cot? 45°, cot® 60° are in GP
) tan?30°, tan?45°, tan? 60° are in GP
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Q) Which one of the following options is correct?
() sin?30°, sin?45°, sin? 60° are in GP
(b) cos? 30°, cos? 45°, cos? 60° are in GP
(¢) cot?30°, cot? 45°, cot® 60° are in GP
) tan?30°, tan?45°, tan? 60° are in GP

Ans: (d)
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Q)What 1s the 10th common term between the series
2+6+10+....and1+6+11+....°7
(@) 180 (b) 186
(c) 196 (d) 206
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Q)What 1s the 10th common term between the series
2+6+10+....and1+6+11+....°7
(@) 180 (b) 186
(c) 196 (d) 206

Ans: (b)
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Q) If the AM and HM of two numbers are 27 and 12 respectively,
then what 1s therr GM equal to?

() 12 (b) 18
c 24 @) 27
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Q) If the AM and HM of two numbers are 27 and 12 respectively,
then what 1s therr GM equal to?

() 12 (b) 18
c 24 @) 27

Ans: (b)
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1 1 3
Q)Which term of the sequence 20, 192, 185, 172,--. is the

first negative term?
(@) 27th (b) 28th
(¢) 2%9th (d) Nosuch term exists
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1 1 3
Q)Which term of the sequence 20, 192, 185, 172,--. is the

first negative term?
(@) 27th (b) 28th
(¢) 2%9th (d) Nosuch term exists

Ans: (b)
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Q)If the sequence {S } 1s a geometric progression and

S, S = Sp S, then what 1s the value of p?

@ 1 (b) 3

© 5 (d) cannot be determined
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Q)If the sequence {S } 1s a geometric progression and
S, S = Sp S, then what 1s the value of p?

@ 1 (b) 3

© 5 (d) cannot be determined

Ans: (c)
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DIRECTIONS . : For the next two (02) Questions
that follow:

The sum of first 10 terms and 20 terms of an AP are 120 and 440
respectively.
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Q)What 1s 1ts first term?
(@) 2
(c) 4
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Q)What 1s 1ts first term?
(@) 2
(c) 4

Ans: (b)

,H_'H\
ec

o W
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Q)What i1s the common difference?

(@ 1 (b) 2
) 3 (d) 4



NDA 2 2024 - REVISION - MATHS - CLASS 7

Q)What i1s the common difference?

(@ 1 (b) 2
c) 3 (d) 4

Ans: (b)
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Q)What 1s the number of diagonals which can be drawn by
joining the angular points of a polygon of 100 sides?
(@) 4850 (b) 4950
(c) 5000 (d) 10000
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EEEEE

Q)What 1s the number of diagonals which can be drawn by
joining the angular points of a polygon of 100 sides?
(@) 4850 (b) 4950
(c) 5000 (d) 10000

Ans: (a)
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Q)What 1s the geometric mean of the sequence 1, 2, 4, 8, ..
219
(a) 211/2 (b) 2(11 +1)/2
(c) 2@+ _ (d) 2@-1
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Q)What 1s the geometric mean of the sequence 1, 2, 4, 8, ..
219
(a) 2n/2 (b) 2(11 +1)/2
(c) 2@+ _ (d) 2@-1

Ans: (a)
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Q) The harmonic mean H of two numbers 1s 4 and the arithmetic
mean A and geometric mean G satisfy the equation
2A + G2 =27. The two numbers are

@ 6,3 ) 9,5
© 12,7 d) 3,1
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EEEEE

Q) The harmonic mean H of two numbers 1s 4 and the arithmetic
mean A and geometric mean G satisfy the equation
2A + G2 =27. The two numbers are

@ 6,3 ) 9,5
© 12,7 d) 3,1

Ans: (a)
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REVISION

TOPICS : e Sequence and Series

e Permutations and
Combinations

(14/08/24)
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